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AT [A597 :

(i) @ I S7HarE & | 39 F97-97 H T 27 T8 |

(i) 3T Y97-99 & AR YT 3 : GV 37, VS &, TGUS & 3K @S 7 |

(iii) @Y 3 H gier 397 8, Y & Uk 37 & | @S § H @Id J97 &, YI% & gt 3%
/) @E g aRgyo7 8 Y% & @T3% & | @8 T H @7 &, 9% &
gier 37 & |

(iv) ¥¥7-97 4 GHF W FI5 [dHcT 787 &8 | a9, v 37% i g 341 4, g 371 arct
gt yodl 7, @7 sl aie G 399 § 3K wia 37l ared @il 9 3 =iRe 59T
YT 1337 797 & | 08 99T H 37791 130 7T 997 § & a7 Uk Y9 & AT 8 |

() &I HEGITF &, T [HETRGd Yifdes Hadie @& HiHl &1 39917 HT Ghd & :

c=3x108m/s

h =663 x 10734 Js
e=16x1019C
Up=4nx 107 Tm A~

gg=8854x 10712 C2N"1m2

1

4T|:80

=9x10° Nm?2(C2

gTFL T GEIHM (my) = 9-1 x 103! kg

=g Wl M = 1-675 x 10727 kg

Tei 1 geqqH = 1-673 x 10727 kg
SISl T&AT = 6-023 x 1023 gfd umw #ia
SiegeH f=am = 1-38 x 10723 JK !

General Instructions :
(1) All questions are compulsory. There are 27 questions in all.

(it)  This question paper has four sections : Section A, Section B, Section C and
Section D.

(iit)  Section A contains five questions of one mark each, Section B contains seven
questions of two marks each, Section C contains twelve questions of three
marks each, Section D contains three questions of five marks each.

/313 | 2




(iv)  There is no overall choice. However, an internal choice(s) has been provided in
two questions of one mark, two questions of two marks, four questions of
three marks and three questions of five marks weightage. You have to
attempt only one of the choices in such questions.

(v) You may use the following values of physical constants wherever necessary :
c=3x10%m/s
h=663x10734Js
e=16x10"19C
Up=4nx 107 Tm A™?
gg=8854x 10712 C2 N1 m2
1

4n80

=9x10° Nm? C2

Mass of electron (m,) = 9-1 x 10731 kg

Mass of neutron = 1-675 x 1027 kg
Mass of proton = 1-673 x 1027 kg

023

Avogadro’s number = 6-023 x 10“° per gram mole

Boltzmann constant = 1-38 x 10725 JK1

Qs A
SECTION A

1. T & BidH fomor 1 s fafeon <kt dierar sht gt fafay | 1

Define intensity of radiation based on photon picture of light.

2. 34 feufa =1 3g@ hifsg e forelt @iefta g W Jgd, 3t are fopan s

T 3 | 1
rera

Ife srmafad ST YR B et SR @ gfeeenfua st fen Se, @ e e

% fi50 # =gam fo=e™ o @1 fo=wo fhd Jehr g 2 1

| 55/3/3 | 3 P.T.0.
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State the condition under which a large magnification can be achieved in
an astronomical telescope.

OR

How does the angle of minimum deviation of a glass prism vary if the
incident violet light is replaced by red light ?

qM9 & HeAd & &9 H HIGL sh] Tfaleehdl sl UTH Wi |

Draw a plot of resistivity of copper as a function of temperature.

foga-0eh smul W @ @ wfcss Mo A 3 B Ush-gel o orh § @ | o@
# ZNT AN HIE GAERE B P el A o e @18 78 8 | 39 341 el ol
Th-gE | Y% hish B P I B @ TR | A A AR B W AT hl
SR @/ Bl 2

HYAT

g difcaeh et fopdll Tl sam w @ 3 | foreft sromafita &g =t 34

el & fiehe TR, TIMTT STTER Tl i YEFfhd L TG T B | EFIehYT i
B 3TN RUMGRIG B I gL A I W, el T AR 31 Tehid &= SR 2 319

I o oI SR e |

Two metallic spheres A and B kept on insulating stands are in contact
with each other. A positively charged rod P is brought near the sphere A
as shown in the figure. The two spheres are separated from each other,
and the rod P is removed. What will be the nature of charges on spheres

Aand B?
o0
52
OR

4
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A metal sphere is kept on an insulating stand. A negatively charged rod
is brought near it, then the sphere is earthed as shown. On removing the
earthing, and taking the negatively charged rod away, what will be the
nature of charge on the sphere ? Give reason for your answer.

TR AT § ANUTE 1 1 fafgu | 1

Write the function of receiver in communication system.

Qs d
SECTION B

AT t o 1Y ARG 1ient N 6 fo=ror <l ewie & foe o Eifew | 39 o
ST ITINT Hieh Ig FTa shifore, fop foreft Heamufaea Tifyres it ored 31y qen sfaq
31y fope wehR et < ST At B | 2

Plot a graph showing the variation of undecayed nuclei N versus time t.
From the graph, find out how one can determine the half-life and
average life of the radioactive nuclei.

(a)

(b)

(a)

(b)

AR oA T HIF-AT TOIEH 20 < A < 170 IHEX o ATHRI hl S=eH
Sttt At (%) i TeoRan <l =ame T g 2
= & 18 Thwehr sifafsheneTt 1 g AT 2
32 —
(i) 1P — ‘;X +e +V
. 12 12 A 4
(11) 6C + 6C — ZY + 2He
Which property of nuclear force explains the constancy of binding
energy per nucleon (%) for nuclei in the range 20 < A < 170 ?
Complete the following nuclear reactions :
32 —
(i) 5P — ‘;X +e +V

12 12 4
(i) §C+ ¢C —— >Y + ,He

5 P.T.O.
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¢ Fell qNehed T T ITAN hid §U TRl Soiag o aul A0l & SfTER W
BISGISH TUTY] 1 nfl HeT § GRGRHUT hid U S o hIU HaT % g
SR T TR Tfaawg IH HIT |

Obtain Bohr’s quantisation condition for angular momentum of electron

orbiting in n'P orbit in hydrogen atom on the basis of the wave picture of
an electron using de Broglie hypothesis.

9. 3M@H 10 V hI frdt St T uiw GufEi o deaeh &l gaiford fopam T 8 |
5 uF o Tenie grr :Afsid 1mewr uitehfad SHifST |

5 uF 10 uF
15 uF|

— —10 uF

20 uF
|

11
i
10V

The figure shows a network of five capacitors connected to a 10 V battery.
Calculate the charge acquired by the 5 uF capacitor.

5 uF 10 uF
15 uF

- —10 uF

20 uF
| |

|
i
10V

10. 0-5 m T Tohsll IIATIOToRT H Uid S=EIHIeX 10 Y § AT $Heh! STIIEY-3hIC h
g% 1 cm? 3 | Ife 39 qRATTRT & JaTfgd 9 0-1s H 1A ¥ 2 A & St
2, a1 35 0 W IR dieear gienferd ISy |

YT

6
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IH-AE U deit 140 B 3R 5 ecm? &% dTell iy 9 AW HUSH!
0-:09 T Jrrehld & Icqd hid dTcl ARBIATCH Fraeh & gai & o= W 7 3N
o 38 e @ 59 &9 @ aTe o R T R | ufiefora hifse

(a) 39 PUSEH ¥ T dTel Jraehld Fedad | i, aem

(b) 39 FUSeH H U fa.a1. 9 (emf) | 2

A 0-5 m long solenoid of 10 turns/cm has area of cross-section 1 cm?.

Calculate the voltage induced across its ends if the current in the
solenoid is changed from 1 Ato 2 Ain 0-1 s.

OR

2

A small flat search coil of area 5 cm“ with 140 closely wound turns is

placed between the poles of a powerful magnet producing magnetic field
0-09 T and then quickly removed out of the field region. Calculate

(a)  change of magnetic flux through the coil, and

(b) emf induced in the coil.

11.  f%%H gl % [l 1A U o YhlTl H, I8 quisy b 579 I3 foeal £ 37X of
& = feoq grar 2, d 3uee wfafers of @ R () sHa1 2 | 2

In the case of a concave mirror of focal length f, when an object is kept
between f and 2f, show that its image is formed beyond 2f.

12. 91 7 % TopEl @W weqT % Ui MW W U foeg ofem, H YR® + q 3,
ford & | 30 SN % g W 8@ maw — q W g 5@ 1 qfmmr s
HIT | 2

AT

m SEIHM o Tohet T il & o+ WA leioh ohl iFalTs [ o gl & foatfea fopa
T ] | 39 M W hIS &A1Y g 8 | T8 Alcieh SHeaier H= it 3R fose digran
E % THeaH fogd-ae § fd 2 | el 9 % THTE St 3UET d gY M
T TG R STA 96 o HRUT Al o GIel 1 ATIGhIA AT HIT, | 2

| 55/3/3 | 7 P.T.0.
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13.

Five point charges, each of charge + q are placed on five vertices of a
regular hexagon of side /’. Find the magnitude of the resultant force on a

charge — q placed at the centre of the hexagon.

OR

A simple pendulum consists of a small sphere of mass m suspended by a
thread of length [. The sphere carries a positive charge q. The pendulum
is placed in a uniform electric field of strength E directed vertically
downwards. Find the period of oscillation of the pendulum due to the
electrostatic force acting on the sphere, neglecting the effect of the

gravitational force.

Qs u
SECTION C

(a) 3TR@ T T SFTER ac INUY H HIE L Iehed T Y& aAT R Ifaly 1
il St § SAMIT 2 | BoR TG 1 YA Hid §Y, SATEAT hI
for uftay o Sicedr setl § 9/ A @ =& g |

(b) UfeRige & & W fawar 160 V qer Wk & & W favar=w 120 V
2 | STIIIH dleedl 1 Y9 U Fa e | afe iy § gurdt gm
1-0 A3, a1 aftaer 1 et e gitehfara i |

(¢) & 9iuY ¥ fase g (de) Janfgd <t St §, o 9iey § favarm &=
B 2

R L

Vg —se— V.

(~)
&

€ =g, sin ot

YT

8
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s ac INOUY T IRUY e¥ai X AR Y o v TASH G S 8 | 910 el H
aﬁmﬁ%w% | Ife 3feRrd X 100 Q T Ig Sfaier B,

(a) 99y Tg¥a Y o1 AW fafgu |
(b) ZlﬁEﬁWﬁTWrmsqF[ 141V%,?ﬁﬂ'l’([ﬂrmsﬂﬂqﬁ%—%ﬁﬁﬁ? |
(¢) ﬂﬁac@ﬂﬁdc@ﬁﬁﬂﬁ?ﬂﬁﬁﬁmm,?ﬁwgﬁm? 3

(a)  An ac circuit as shown in the figure has an inductor of inductance
L and a resistor of resistance R connected in series. Using the
phasor diagram, explain why the voltage in the circuit will lead the
current in phase.

(b)  The potential difference across the resistor is 160 V and that
across the inductor is 120 V. Find the effective value of the applied
voltage. If the effective current in the circuit be 1-0 A, calculate the
total impedance of the circuit.

(c) What will be the potential difference in the circuit when direct
current is passed through the circuit ?

R L

Vg —sie— V.

(~)
J

€ =g, sin ot

OR

An ac circuit consists of a series combination of circuit elements X and Y.

The current is ahead of the voltage in phase by g If element X is a pure

resistor of 100 Q,

(a) name the circuit element Y.
(b)  calculate the rms value of current, if rms value of voltage is 141 V.

(c) what will happen if the ac source is replaced by a dc source ?

| 55/3/3 | J P.T.0.
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= fou U faegq-grasha faferon 6t qureed o1 iR fafen -
(a) TaTH foptoi

(b) TSI foRTol
(c)  vy-Teptmt
ITfE ° | TS HI Th-Ush TN feflgu |

Write the range of the wavelength of the following electromagnetic
radiations :

(a)  Infrared rays

(b)  Ultraviolet rays

(¢)  y-rays

Write one use of each of the above.

(a) VhmI-fagd W@ W Hed § amafaq fafeton <t omgfa o @y e
favwa < fommor =61 gl & fore o Eifa |

(b)  AEETZH o ehI-fag THiehtur o1 IUFM g g+ o forw Shifse o6 34
T 1 ITAN ek (1) 8l AR, AT (i) AR FHaames 1 g
Tre TeRR fohar ST Wehal 7 |

Frera

(a) SEEIS % ehl-fagq gl 1 HgEdr ¥ YeweEed Hag Wod
TAFLT o SCESH ol his el THST Tohal B ?

(b) UGFH=H T R B 4-2 eV B | I 2.5 eV ol dTel G Bl 3Hh]
Tag W AMfdd Bd &, ol FIT SAFHT bl ISt BT 2 3794 IR hi
gfse ST |

(c) ThmRIfagq y9E o TH T § e fawa 15 Vo | S
BIRISAFHI <l STfirehad Tfas Fit fehel BTt 2 UM S # HIY |

(a) Plot a graph to show the variation of stopping potential with
frequency of incident radiation in relation to photoelectric effect.

(b)  Use Einstein’s photoelectric equation to show how from this graph,
(i) Threshold frequency, and (ii) Planck’s constant can be
determined.

OR

| 55/3/3 | 10
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(a) How does one explain the emission of electrons from a
photosensitive surface with the help of Einstein’s photoelectric
equation ?

(b)  Work function of aluminium is 4-2 eV. If two photons each of
energy 2-5 eV are incident on its surface, will the emission of
electrons take place ? Justify your answer.

(c) The stopping potential in an experiment on photoelectric effect is
1-5 V. What is the maximum kinetic energy of the photoelectrons
emitted ? Calculate in Joules.

16. (a) S hHIVY foh & HI3 AYfad T & IRGRN ATEIHT I J&H H
Tl ITYSS T 3ATIA Ll 7, Al 98 ohd ThR gfod &1 SI1al 2 |

(b) Torell umeeff Wem W gauT SIvT W EW TR ATUAT HIAT B | TS
HIUT 30° B | T4 HIfQ

(i)  gav v, qe
(i)  HIEIH BT T | 3

(a)  Explain how an unpolarised light gets polarised when incident on
the interface separating the two transparent media.

(b)  Green light is incident at the polarising angle on a certain
transparent medium. The angle of refraction is 30°. Find

1) polarising angle, and

(11) refractive index of the medium.

17. 3@ ¥ U U 99y § UHET A 9 JaIgd 910 1 HF 3T hIT | 3
30 9Q
AN AN
9V A
— 12g2§ 6
— 4Q
ANAA
20

| 55/3/3 | 1 P.T.0.
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18.

19.

20.

In the circuit shown in the figure, find the value of the current shown in

the ammeter A.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

30 90
AVAAYA ANV
9V A
— 12g2§ 6Q
T 4 Q
ANV
2Q

3fod @ 1 3T A Y Tohell ame forea-am o Iufeta § fee
IeAeh 3R forefl Taga o Saaer | TR it ey # wren Hifsu |

forelt W & gaur <t uftyrr forfae qon foagq-a & g A fomedt
e auehem wega & fow =es fafaw |

Explain briefly, using a proper diagram, the difference in
behaviour of a conductor and a dielectric in the presence of
external electric field.

Define the term polarization of a dielectric and write the
expression for a linear isotropic dielectric in terms of electric field.

Teret =meteh, fSTaehT Soiereld T U9cd n AT SAIEA-HIC FTFA A B,
¥ TaTEd g o foTU 79aTg 9 vy o 9el H Ik 96 T |

forelt srdaTereh <t Sfcigehar @@ # gfg 8 W fopd TR aftafaa gt
7 2 ST i |

Obtain the expression for the current flowing through a conductor

having number density of the electrons n, area of cross-section A in
terms of the drift velocity vq.

How does the resistivity of a semiconductor change with rise of
temperature ? Explain.

()  feu wu ufwy 4 3iferd P 3 Q a<h el <Al Heaw grell faifgu |
(i) iy & fu gemm gneht fafge |

P' b

12
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21.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(c)
(a)

(b)

NOR Ti¢ <l HTE3eh T 1 HHET 14T & 2 3

ST
=T hifGY foh fpell p-n @Y SR ¥ fava TR fopm yopr faenfda
BIA 2 |

yyaiefyres g # fheft p-n @fYr sEre & V-1 ifierefires & stery &
fore uftaer e difaw | 3@ geRtor § V-1 sAfirenafire difew | 3

) Write the truth tables of the logic gates marked P and Q in
the given circuit.

(i1) Write the truth table for the circuit.

P- b

Why are NOR gates considered as universal gates ?

OR

Explain how a potential barrier is developed in a p-n junction
diode.

Draw the circuit arrangement for studying the V-I characteristics
of a p-n junction diode in reverse bias. Plot the V-I characteristics
in this case.

forelt =Tt 9 W I Jraehid &1 HRId g § Wal 9NN fhd TR
39 i AT 7 ?

$Toh ITATH TN % & IGTE T |
We Gt <hl BT bl fohd TehR A foha ST Tehat 8 2 3

How are eddy currents generated in a conductor which is subjected
to a magnetic field ?

Write two examples of their useful applications.

How can the disadvantages of eddy currents be minimized ?

13 P.T.O.
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g H T Rl NEN TR IS ANE@ H ¢ FgER TR g P W
JANETNE BT 8 | 919 36 S o U § 1-5 UG o hid o {ohel Tt ohl
@ e Srar 7, v wfdfors f 78 feufa ufesfa i | s99 arer wfdfors &
foru fertor s oft Eifew |

AT

20 cm =T o ToREl HiF % Tt % I8 W Hfeha fopelt formg ‘O 1, 34 fearfa &
S fog O % 3l TFIE 8 Hid H Bl @1 A1 & | Al = 1 e
1-5 8, d 54 o Yfaferes <61 fedrfa sma fifse | gfafars s9391 eoie & foig
fortor st oft Eifem |

A converging beam of light travelling in air converges at a point P as
shown in the figure. When a glass sphere of refractive index 1'5 is
introduced in between the path of the beam, calculate the new position of
the image. Also draw the ray diagram for the image formed.

OR

A point ‘O’ marked on the surface of a glass sphere of diameter 20 cm is
viewed through glass from the position directly opposite to the point O. If
the refractive index of the glass is 1-5, find the position of the image
formed. Also, draw the ray diagram for the formation of the image.




23. (a)
(b)
(c)
(a)
(b)
(c)

foreft Tt <ht Sve <iSE O AT 41 9l B 2 39ehT Hetd iRy |
R S ST e ¥ e fee A |

TTHSTH 3T gRIEds o s ffe |

What do you mean by bandwidth of a signal ? Give its importance.

Differentiate between Analog and Digital communication.
Write the functions of transducer and repeaters.

24, grahr fgga & fgga smeet i uftam fafew | s@e S.1. A fafe |
Tore ST T FrEehi & | e fopelt graehi fgga W svria aa-mee
% foru =ik ymw HifSw |

Define the dipole moment of a magnetic dipole. Write its S.I. unit.

Obtain the expression for the torque acting on a magnetic dipole placed
in an external uniform magnetic field.

25. (a)

(b)

(a)

(b)

LG LR
SECTION D

Wn-p-n@ﬁ@%%ﬁ%ﬂ@@ﬁ?mﬁm-mw%

3 TIHd B qAT STMUR-UUTES Ay vl dEfdd ® | e

Frifafe =1 @aw d auiq Hifve |

AT hioT T i3 2ifviet -l dfsha 3rewen § fopg YehR 19T

IcTSToh-3MER By | 7 gfofiy goriar 8 a0 SNuR-SuTes 9y | 3=

gferer gl 2 |

Arg gy Ry, 9/ @fed p, aun Faw iy & ugi & CE fo=ma #

TRt gifvreet Jaedeh <1 dieeal afed o foTT =i =gcad iU |

=TT hifoe fos fasft 3K frfa aiceand fauadfia e d <= Bt & |
rora

T Icdsish SIS (LED) & &9 H 3I9ANT fohU oM a1et fepelt p-n @fer

TS I o= = a9 9 Agwyul o= & =\ § @1 9 ®

3T Ig@ HIT | A FREt LED 1 599 IRER | TR 3cdtoid il

2, @ LED o1 SV 3TqUd fohd hife 1 BT ATRT ? Teh UNUY IRG

Hifau 3 sueh! fspanfafer i saren i |

LED @1 V-1 1f%enaifies ST | TORmma avdE oF i shi gam |

LED &¥di & g STl ! 3g@ shiferT |

5
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(a)

(b)

(a)

(b)

26. (a)

(b)

(a)

(b)

| 55/3/3 |

Draw a circuit diagram of an n-p-n transistor with its emitter-base
junction forward biased and base-collector junction reverse biased.
Briefly describe its working.

Explain how a transistor in its active state exhibits a low
resistance at its emitter-base junction and high resistance at its
base-collector junction.

Derive the expression for the voltage gain of a transistor amplifier
in CE configuration in terms of the load resistance Rp, current
gain 3, and input resistance.

Explain why input and output voltages are in opposite phase.

OR

Write the important considerations which are to be taken into
account while fabricating a p-n junction diode to be used as a Light
Emitting Diode (LED). What should be the order of band gap of an
LED, if it is required to emit light in the visible range ? Draw a
circuit diagram and explain its action.

Draw the V-I characteristics of an LED. State two advantages of
LED lamps over conventional incandescent lamps.

forell gm0 eTawa o SR TRl fomg W Fraehia & i feff@ & aren
frem fafay ik 3ueh =amen HifT | v Bsan o foret gameer arETs
TTST h RN 3T hrg T FFIehT & o ToTT I gedad ShifsT |

fopell @7l TR W 1 cm TS 1 I3 BT IR 3o g Al qa-foig T
o 3 qen fred X-o1e1 & 3rgfew 10 A a0 varfed & W 8 | Y-t W
39 3999 € 0-5 m g T 39 G AT b U rhT & T T

3 feen s <hifer |

arerat
s r 1 forell gmreTEl FUSEl  HRU FUSAT h hg H G x W
X-378F °h IT(CY Jraeh!d &7 oh I Aseh gedad hiT |
M@ # 29y SFFER foreh e wig ar, f5&@ 5 A 9w yentea 8 @
8, %l 2 cm BISAT % SRR =19 1 ARG H A T 7 | 39 =W h
3 T GFEeh & 1 IRET SR feem F Hife |

VAR

16




=
A0

(a)

(b)

(a)

(b)

27. (a)

(b)

(c)

State and explain the law used to determine magnetic field at a
point due to a current element. Derive the expression for the
magnetic field due to a circular current carrying loop of radius r at
its centre.

A long wire with a small current element of length 1 cm is placed
at the origin and carries a current of 10 A along the X-axis. Find
out the magnitude and direction of the magnetic field due to the
element on the Y-axis at a distance 0-5 m from it.

OR

Derive the expression for the magnetic field due to a current
carrying coil of radius r at a distance x from the centre along the
X-axis.

A straight wire carrying a current of 5 A is bent into a semicircular
arc of radius 2 cm as shown in the figure. Find the magnitude and
direction of the magnetic field at the centre of the arc.

VAR

T T TIGT Teha Uil JehT @Al g1 SHTehiol 924 ITH TehaT ST HehdT & 2
R HIfT |

st # quid T R @ % ffedt v B yfie sawen # Sw
3f=ss (0) W fal I 2 | 3E g OP e i fha-=iers &1 Us-faars

3, @ 7w guis & frg P Irozﬁﬁn

S&{ |

| 57T 0

a1 % fgfet s & ffai o &= 9o 05 mm o wal fafa @
10 m € @ 8 | 98 urn e 2 o gEdt et e § wiwell smehiel!
a1 I g 413 mm 8 | T T I TG 14 HIT |

atera

17 P.T.O.
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(a)

(b)

(c)

(a)

(b)

(c)

TUICET A o JhI 1 ITAN hd W e ‘a’ hl fhdl Tha T
g Icud o Ued 4 ugat fifeiss & fow @99 a sin 0 = A & =
HIT |

SR Afgd 3g@ St fh Fa tass it Waes e fvm g
guTfad gt Afe (i) Tehauil fiAd JehTsT sl AT TehTST ¢RI TfaEeiud
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Can the interference pattern be produced by two independent

monochromatic sources of light ? Explain.

The intensity at the central maximum (O) in a Young’s double slit
experimental set-up shown in the figure is I. If the distance OP

equals one-third of the fringe width of the pattern, show that the

. . . I
intensity at point P, would equal TO

S&{ |

| 57T o

In Young’s double slit experiment, the slits are separated by
05 mm and screen is placed 1:0 m away from the slit. It is found
that the 5™ bright fringe is at a distance of 4-13 mm from the 274
dark fringe. Find the wavelength of light used.

OR

18



=
A0

(a)

(b)

(c)

Derive the relation asin® = A for the first minimum of the
diffraction pattern produced due to a single slit of width ‘a’ using
light of wavelength A.

State with reason, how the linear width of central maximum will
be affected if (i) monochromatic yellow light is replaced with red
light, and (ii) distance between the slit and the screen is increased.

Using the monochromatic light of same wavelength in the
experimental set-up of the diffraction pattern as well as in the
interference pattern where the slit separation is 1 mm,
10 interference fringes are found to be within the central
maximum of the diffraction pattern. Determine the width of the
single slit, if the screen is kept at the same distance from the slit in
the two cases.
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